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204,000,000 » 14! 204,000
< 142,800
e 61,200
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— ZE SO 200,000 1 %23 400
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—Jlas 68,8003 x40 x25 68,800
-5 68,8003 x40 «8L 22,016
—5YZ2RE 68,800 *40H 122! «150% 49,536
OWSEE=D =22 X 68,8003 x3&H 152! 3,096
O=2Aldg 3Aa0E 68,8003 x8H x100! 55,040
o8z 28,000,000 28,000
2 EL2 H Y| 275,547 269,864
AtS 2tel ] 144,759 143,219
Os2dg 22l 92,268
— &0 2L S 8,000 x6H 402! 1,920
- MA 1,000& =1,5000H 1,500
—SEgaAANLE 2
800,000 104 A %12 9,600
— 80 & HHE MH 75,000& 204 1,500
— NS 2YE AMRHS 425,000& *43] 1,700
—AEFREH 10,0002 x35 +12& 360
— &0z 50,000& x12& 600
—AEFAAIRHURE(71ha)
5,000,000& =13l 5,000
— 2= AHHA 01822 1,200
—dUZHAMHI A=2=2 400,000,000 *3.3% 13,200
—JtEdEs2 100,000, 000& *4.0% 4,000
—dANH A SSEHIE 350,000& 14 350
— SHO0IX 2 AHA OIER
100,000& =123 1,200
— A=) UE=SNE I
40,0003 =20 x40 3,200
— SAD EX=E 99,000& +x12& 1,188
— Kl Ald 2ely] 100, 000& 200& 20,000
—HES =2 A 500,000& »23] 1,000
— HE HEH 2,000,000& » 14l 2,000
— PPOHCH 2,200& «1,0000H 2,200
— ZZHMSE(50L) 900& *3,0000H 2,700
—ZEHMESE(10L) 200% *3,0000H 600
—SASMYIISE(5L) 100& =3, 0000H 300
—2BHYAE 50,000& x16& 800
—NEES 70,000& 505 3,500
— S HA, HIHEE
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—SEAE SEXA 50,000 »40%t A 2,000
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SA - FE - BI(EA) - NRAY - By 0l b SSa DS
—FHES 100,000& x24Z& 2,400
—MEdIS(2el=HE) 15,000& 504 750
—YZASA BN Y 1,000,000 14! 1,000
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LR 1,360& *8004 1,088
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=2l Hl 160,000& x5& *53] 4,000
— N& ST 2l 6,000
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625,000& *8=| 5,000
=T . SHEMHE 1,000,000& *13l 1,000
= = 12,500& *4004 5,000
—dDJ|erd2te| CHEH| 400,000& 128 4,800
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HHE =2F 2,000,000 x1& 2,000
) 2HE 25,000& =128 300
— AR = 20,0003 132/ & «12& 3,120
Ve 15,0003 44 & <123 7,920
— BN RSE 100,000& » 12| & +12& 1,200
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—tAEFY 80,000 =124 80
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OB AL I 18,000
— 28 Y BOAIE 24 2,000,000 *40H A 8,000
— 840l S NES AI24
2,000,000& x53] 10,000
405 XH&aHF SHI 8,060 4,900 3,160
01 JtatY = S F SHI 8,060 4,900 3,160
Ofdsxe =57 8,060
—dH&ED 2 800, 000& =24 1,600
- TV 400, 000& =204 800
— 0l =7 500, 000& =24 1,000
— Mg & 300, 000& =5CH 1,500
— 340 180,000 *2CH 360
— & Xl oKl 150, 000& *2CH 300
— g gD 1,000,000& *1H 1,000
— A3 30,000& 4074 1,200
—olgH 100,000& *3H4 300
NRHMAG S (HENHESY ZLXA) ,200,000 200, 000 1,000,000
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— &I 2R S 8,000& »6H x40 1,920
—clZ3 M= 1,000& *1,5000H 1,500
—SE22UALAE BRI 22|
800,000& 14 & +12& 9,600
— 82 2 Ot E M 150,000& 104 1,500
—NAS2E ARHS 425,000 *43| 1,700
—AEFR=H 10,000& x3&+12& 360
— &) gz 50,000& x12& 600
— XA AMEA0ES 1,200
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2204l 140, 0002 *55 *53) 3,500
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— & oA 22| CH & H| 481,250 x12& 5,775
—&IIANEE 77,200
ABH(=A JI2S ,HOAAE 5)
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Osga =HHFH| 8,000,000& » 14 8,000
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401 Al HI L 201 400,000 800,000 A 400,000
Fas 200,000
= 200,000
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s 199,000
= 199,000
03 A& 20 b 2,000 2,000 0
Ogslsdsda B2AIH AIE20H]
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—F54 68,800& * 1 x32 2,202
— 52224 68,8003 *1H *32 x150% 3,303
PN 68,800& x 1 6 413
— BE FItI 200,000& x1H *13] 200
OssIIES I FI|8x 52,632
—-JlE22 68,800 *15% x25 25,800
- 54 68,800& *15H x8 8,256
— 52422 68,800 15«12 *150% 18,576
ONEFLEs & F4 68,800& *10H x50 34,400
OE&EHd4) =2 68,8002 *x3H *10! 2,064
OBE&8= 10,000
201 Yete | 190,735 185,093 5,642
01 AP 22l Yl 49,800 48,300 1,500




SA: A
HE: MEXNRAS ASF
©el: B2 29 CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OsJtE 2822l 49,800
—SHSFHNEER =2(0]17) 2L
100, 000& *5& x53] 2,500
—clSHH 1,000& *2,0000H 2,000
—SHEIMEE LENLHEH AIRES 7Y
250,000& =83 2,000
—SHE2IMEHR HEL2ES 7
50,000& x20&5+12& 12,000
—IJlE0IgEx2 30,000, 000& *4% 1,200
—EZLDH HAH 1,000,000& #2204 A 2,000
— Q% XelAlaE 22l 100, 000& *210& 21,000
—IIERYs SEE2E *LY  225,000& x204! 4,500
— 93 SAIRA 2HEHEE 7L 1,000
—SHEFMEL AT 12,0003 x50 600
— R0t=01217 F¢ 100,000& 105 1,000
02 3524t 140,935 136,793 4,142
OsJtE 2822 140,935
— AELEH R FHI 4,320
ks 910& *3,0004 2,730
a5 1,260&3 *1,261.5¢4 1,590
-2k AHE 13,000& %2504 3,250
—&IIAEZ 107,700
HM=Z&E 9 I 2,958,330& x12& 35,500
NEFLAHL 2,958,330& x12& 35,500
OIs=EE 4,250,000 x 100 A~ +4& 17,000
caXelAld 200,000& x12& 2,400
2t AR A! 500,000& x12& 6,000
Q1 2Tt 25,000 x12& 300
- d=Z2E orgua 916,600& x12& 11,000
— MD|otM 22| O & HI 6,000
MN=ZdE & HHE 300,000& x12& 3,600
NESAS 200,000& x12& 2,400
— AdENSRSB 100,000& *23| & x12& 2,400
— 22X elAlE HEa 1,000,000& x4 2~ 4,000
— AgFUE A 3,000
SHEsHME & 1,500,000& * 14 1,500
NES2AS 1,500,0003 * 14 1,500
— U3 Esdzs(test2d]) 20,3502 «12€ 245
—-TVea 15,000 284! x12& 5,040
— QoY 2= 20,0003 *73| & x12& 1,680
—&s&JIs X2l 150,000& = 12& 1,800
— OHLf & B 300, 000%5JH A~ 1,500
401 Al HI L 2T 80,000 28,000 52,000
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2N s
M MR ASS
oel: BYY 24 (el @2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 Al&H| 80,000 28,000 52,000
OFIIE AMEEH| 80,000
—SHESHEHE XN=s T
40,000,000 =14l 40,000
— 8447 S glt&E A22%
5,000,000& *23| 10,000
— =8t 9 TOJAlA EH4 2 000,000 x404 & 8,000
—Z22Z2ANEE HWAESEHA
20,000,000 x 104 & 20,000
— 2| AL &X 2,000,000 *1JH & 2,000
405 RHAHFE S HI 4,950 4,400 550
01 AL 2B F S| 4,950 4,400 550
OYsSSIIEFIIIE 29 2572¢ 4,950
— 0l =2l 500,000 = 1CH 500
- TV 400,000 =3CH 1,200
— MOt E 200,000& = 10CH 2,000
— M Xl el X 125,000& = 10CH 1,250
ANeo = x4 500,000 1,600,000 A 1,100,000
& 250,000
= 250,000
401 Al HI L 2 0HHI 500,000 1,600,000 A 1,100,000
= 250,000
iy 250,000
01 Al & H| 500,000 1,597,000 A 1,097,000
OXR9 &= ZHEAMY 500,000
= 250,000
= 250,000
oLE - Bi3ls HolEA 29X 51,000 50,000 1,000
= 25,500
& 7,650
= 17,850
201 Bt 51,000 0 51,000
= 25,500
= 7,650
= 17,850
01 AP 22| H| 51,000 0 51,000
O =dl&8AF EX& 25,500,000 *x2H 51,000
= 25,500
= 7,650
= 17,850
SHAE A AH (A2 34,973 34,373 600
ol =29 Y| 2,100 2,100 0
ol =AY 2,100 2,100 0
201 LBt 2,100 2,100 0
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2N
X ZH -
L= B

el

e rx

Sl
22 (&g D)
H24H

SA BB O () - MM - HES 0l &+ o4 il
01 At 22l 2,100 2,100
OBAZE 22=(s - 5=) 7Y
700,000& x3H 2,100
|23 bl 32,873 32,273
Jl23Hl 32,873 32,273
201 L2l 19,973 19,373
01 At 2t 2|l 17,333 16,733
O=SAMEX 2L 22,900& x 10 A %128 2,748
OMREE 7¢ 1,200, 000& *23| 2,400
O=SAI Xtz 660,000& = 12& 7,920
O&F=)| gtz 43,7003 =12 525
OMEZRE= 660,000& 4= | 2,640
OdgdE S A7Y 100, 0002 x5& 500
OZJ18 37| 50,000& x12& 600
02 3323l 2,640 2,640
OMEH B225 =l 264,000& 103 2,640
202 oddl 7,680 7,680
01 = LH o4 1l 7,680 7,680
ORNE2E =UHHH 7,680
203 YR F&H| 5,220 5,220
04 EMNSSHRF=LHI 5,220 5,220
ORA2EIRFAH| 435,000& 123 5,220
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